.AI : Yamaha R1 2015 onwards full system fitting instruc-

Austinracing tions

Remove stock silencer

Remove all lower and side

body work

Remove stock cat box

Remove oil cooler bracket

Remove all exhaust fixings

Remove headers

Install Austin Racing head-

ers using stock header

nuts and gaskets.

8. Bolt up using M8 x 45mm +
penny washer

9. spring on and bolt up slip
on

10.Enjoy your Austin Racing AR22 full system!

N —

No oA

Box includes:

instructions

stickers

Exhaust sticker

spring puller x 1

M8 x 45mm socket head bolt x 1

M8 penny washer x 2

M8 nyloc nut x 1

GP1/GP2:

M8 x 25mm socket head bolt x 1

M8 washer x 2

M8 nyloc nut x 1

DB killer x 1 (GP1 - M5 db killer bolt, M5 split washer)
GP3:

DB killer x 1 (GP1 - M5 db killer bolt, M5 split washer)
springs with rubbers x 2



